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Start in Fenelon Falls, Ontario, Canada

Draw the displacement vectors on the map in order that they are listed below and write your new location.

· 2 cm [W15°N]

· 5 cm [W35°S]

· 11.5 cm [E10°N]

· 8.5 cm [E12°S]

· 4.5 cm [W10°S]

· 9.5 cm [E40°S]

· 20.5 cm [W20°N]

Draw the final displacement vector and record it _____________________________

Calculate your speed and velocity for the trip if it took you one day to complete the journey.  Assume that 1 cm = 1 km.  Express your answer in proper SI units.
speed = 

velocity = 
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